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QUESTION 1

Which three Microsoft Windows services can be disabled to improve virtual desktop performance? (Choose three.)
A. Windows Update

B. Windows Index

C. Superfetch

D. Workstation

E. User Profile Service

Correct Answer: ABC

Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/techpaper/vmwarehorizon-6-view-
performance-best-practices.pdf page 21

QUESTION 2

What are two RDS Desktop pool settings? (Choose two.)
A. Allow users to choose protocol

B. Connection Server restrictions

C. Adobe Flash quality

D. Allow users to reset their machines

Correct Answer: BC

Reference: http://docs.hol.vmware.com/HOL-2016/hol-mbl-1651_html_en/

QUESTION 3

Which two guest virtual machine components provide the best performance in a View virtual desktop? (Choose two.)
A. vmxnet3

B. BusLogic

C. PVSCsI

D. e1000

Correct Answer: CD
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QUESTION 4

What is the minimum version of vSphere required to deploy instant clones?
A. vSphere 5.5

B. vSphere 6.0 Update 1

C. vSphere 5.5 Update 3b

D. vSphere 6.0 Update 2

Correct Answer: B

QUESTION 5

One of the datastores containing a linked clone desktop pool is running out of disk space and an administrator adds a
second datastore.

Which operation should the administrator perform to resolve the issue?
A. Refresh

B. Storage vMotion

C. Recompose

D. Rebalance

Correct Answer: B
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